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Question Number : 1 Question Id : 864351361 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



For an electromagnetic wave travelling in free space, the relation between average energy
densities due to electric (U,) and magnetic (U ) fields is :
Options :

T T

U U
8643511081. * m

T -+ T

8643511082. © =

T = 17T

U
8643511083. * i

U <U
8643511084, ° i

Question Number : 1 Question Id : 864351361 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 2 Question Id : 864351362 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The volume V of an enclosure contains a mixture of three gases, 16 g of oxygen, 28 g of
nitrogen and 44 g of carbon dioxide at absolute temperature T. Consider R as universal gas

constant. The pressure of the mixture of gases is :
Options :
K1

V

b

8643511085.



aRT
8643511086. Vv

4RT
8643511087. Vv

88RT
8643511088. Vv

Question Number : 2 Question Id : 864351362 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 864351363 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



For changing the capacitance of a given parallel plate capacitor, a dielectric material of
dielectric constant K is used, which has the same area as the plates of the capacitor. The
thickness ol the dielectric slab is %d , where “d’ is the separation between the plates of parallel
plate capacitor. The new capacitance (C') in terms of original capacitance ((;) is given by

the follnwi_ng relation :

Options :
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Question Number : 3 Question Id : 864351363 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 4 Question Id : 864351364 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The velocity-displacement graph describing the motion of a bicycle is shown in the figure.
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The acceleration-displacement graph of the bicycle’s motion is best described by :
Options :
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Question Number : 4 Question Id : 864351364 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 5 Question Id : 864351365 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A block of mass m slides along a floor while a force of magnitude F is applied to itat an angle
B as shown in figure. The coefficient of kinetic friction is . Then, the block’s acceleration
‘a’is given by :

(g is acceleration due to gravity)

Options :

F F
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Question Number : 5 Question Id : 864351365 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 6 Question Id : 864351366 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A bar magnet of length 14 cm is placed in the magnetic meridian with its north pole pointing
towards the geographic north pole. A neutral point is obtained at a distance of 18 cm from
the center of the magnet. If B;=0.4 G, the magnetic moment of the magnet is (1 G=10"1T)
Options :
8643511101. 2880 ] T

2 1
8643511102, >880x 107 T

1
8643511103. 280 1T

9] 3 1
8643511104, 2880 %107 T

Question Number : 6 Question Id : 864351366 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 864351367 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The angle of deviation through a prism is minimum when

(A) Incident ray and emergent ray are symmetric to the prism
(B) The refracted ray inside the prism becomes parallel to its base
(C) Angle of incidence is equal to that of the angle of emergence
(D) When angle of emergence is double the angle of incidence
Choose the correct answer from the options given below :

Options :

8643511105, Only statements (A) and (B) are true

2643511106, Statements (A), (B) and (C) are true

2643511107, Only statement (D) is true

8643511108. Statements (B) and (C) are true

Question Number : 7 Question Id : 864351367 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 864351368 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
An RC circuit as shown in the figure is driven by a AC source generating a square wave. The

output wave pattern monitored b}-’ CRO would look close to :
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Question Number : 8 Question Id : 864351368 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 864351369 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A block of 200 g mass moves with a uniform speed in a horizontal circular groove, with
vertical side walls of radius 20 cm. If the block takes 40 s to complete one round, the normal
force by the side walls of the groove is :

Options :
8643511113, 0-0314 N

8643511114, 9859104 N

2 3
8643511115, O-28* 107" N

8643511116, 2899 x10" = N

Question Number : 9 Question Id : 864351369 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
200 g IEGHMET Teb Slchodl UhwHIA dF Tl adiay agqoidR Wdgd TaaE adl, We 9wl
arop=AT T 31 20 cm 3. SR SIPed™ U Bl QU HRUANIe! 40 Hohe ArHd, Skl

Options :

8643511113, V0314 N
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8643511115, 281077 N

8643511116, 2899 x 107 = N

Question Number : 10 Question Id : 864351370 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In thermodynamics, heat and work are :
Options :
8643511117. Point functions

8643511118, Path functions



3643511119 Intensive thermnd}-'mnuc state variables

8643511120, Exlensive thc-rnmd}fnam_tc stale variables

Question Number : 10 Question Id : 864351370 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

8643511117. 3

8643511118, a0

8643511119. e a5

8643511120. j H

Question Number : 11 Question Id : 864351371 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The maximum and minimum distances of a comet from the Sun are 1.6 x 102 m and
8.0x 1019 m respectively. If the speed of the comet at the nearest point is 6 X 104 ms 1 the
speed at the farthest point is :

Options :

3
8643511121, 12107 m/s

3.0x10° m/s
8643511122.

8643511123, 6-0%10° m/s

/ 3
8643511124, 42 %107 m/s

Question Number : 11 Question Id : 864351371 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 864351372 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Four equal masses, m each are placed at the corners of a square of length (/) as shown in the

[ igure. The moment of inertia of the system about an axis passing, th_mugh A and para]lef o
DB would be :
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Question Number : 12 Question Id : 864351372 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 864351373 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A 25 m long antenna is mounted on an antenna tower. The height of the antenna tower is

75 m. The wavelength (in meter) of the signal transmitted by this antenna would be :
Options :
8643511129, 200

8643511130, U0
8643511131.

8643511132, 100

Question Number : 13 Question Id : 864351373 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

8643511129, 200

8643511130, ~ U

8643511131, 00

8643511132, 10U

Question Number : 14 Question Id : 864351374 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The stopping potential in the context of photoelectric effect depends on the following property
of incident electromagnetic radiation :

Options :
8643511133, frequency

8643511134, “mplitude

Tritesisity
8643511135, ensity

8643511136, Lhase

Question Number : 14 Question Id : 864351374 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
g Teldea RS HG gigfauy fawa U faga geag Soauiarel @iellel UgHiaY
JaeigT 3N :

Options :

8643511133, AT

8643511134.



8643511135, 1At
8643511136. l

Question Number : 15 Question Id : 864351375 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Time period of a simple pendulum is T inside a lift when the lift is stationary. If the lift moves

upwards with an acceleration g/2, the time period of pendulum will be :
Options :

i
8643511137. ﬁ
NEY)
8643511138.
31
8643511139.
[z
V5
8643511140. ¥

Question Number : 15 Question Id : 864351375 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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&5
8643511140, 17

Question Number : 16 Question Id : 864351376 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A piam:- elctfrr:rmagnetic wave of frequ ency 500 MHz is traveI_T_fng in vacuum alrmg y-dirr:-c Hon.

Ata particular point in space and time, E =80 %108 :l . The value of electric field at this
point is :

(speed of light=3 x10% ms~1)

" 4 M,

x, y, z are unit vectors along x, y and z directions.
Options :

TR
8643511141, —+ X V/m

WLy
8643511142, =0 x V/m

8643511143, 24 x V/m

8643511144, 2Oy V/m

Question Number : 16 Question Id : 864351376 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

24 x V/m
8643511141.



26 x V/m

8643511142,
55
8643511143, —+ X V/m
2.6 i; V/m
8643511144 '

Question Number : 17 Question Id : 864351377 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A conducfjng bar of length L is free to slide on two parallel conducting rails as shown in the

figure

[ ]

| -

g = ",

S X *

- — ey
Rl 4 B < Rz

< >

| x X [

Two resistors R, and R, are connected across the ends of the rails. There is a uniform magnetic

field _E: pointing into the page. An external agent pulls the bar to the left at a constant
speed .

The correct statement about the directions of induced currents I, and I, flowing through
R, and R, respectively is :

Options :
8643511145 [; is in anticlockwise direction and I, is in clockwise direction

I, is in clockwise direction and 1, is in anticlockwise direction
8643511146. 1 2

2643511147, Both Il and I2 are in anticlockwise direction

Both I; and [, are in clockwise direction
8643511148. =

Question Number : 17 Question Id : 864351377 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 864351378 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The pressure acting on a submarine is 3 x10° Pa at a certain depth. If the depth is doubled,

the percentage increase in the pressure acting on the submarine would be :

3

(Assume that atmospheric pressure is 1 x 10° Pa density of water is 10° kgem °,g=10ms 2y

Options :

8643511149.

8643511150. -

8643511151, 2
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8643511152. Ll

Question Number : 18 Question Id : 864351378 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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(3% AT T airexvRiiel 51§ 1% 10° Pa, 9ogmEl 8901 10° kg m ™%, g=10 ms ™ 2)
Options :

8643511149.
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8643511151, -

8643511152, U

Question Number : 19 Question Id : 864351379 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A conducting wire of length ‘T', area of cross-section A and electric resistivity p is connected
between the terminals of a battery. A potential difference V is developed between its ends,

cau sing an electric current.

If the Iength of the wire of the same material is doubled and the area of cross-section is

halwved, the resultant current would be :
Options :

VA
Y, s
pl
8643511153.

1 pl
8643511154, + VA



1 VA
8643511155, & P

3 VA

8643511156, + Pl

Question Number : 19 Question Id : 864351379 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 20 Question Id : 864351380 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
One main scale division of a vernier callipers is “a’” cm and nth division of the vernier scale

coincide with (n— 1]“‘ division of the main scale. The least count of the callipers in mm is :

'n L
(on )
10n

Options :

8643511157.



10 na
1)

8643511158, (1

10 a
8643511159. 1

10 a
(n—1)

8643511160.

Question Number : 20 Question Id : 864351380 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 21 Question Id : 864351381 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A sinusoidal voltage of peak value 250 V is applied to a series LCR circuit, in which R=8 (),

L=24 mH and C=60 pF. The value of power dissipated at resonant condition is ‘x" kW.

The value of x to the nearest integer is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 864351381 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Tpaddiel LCR TRua 250 V fER Jedd W1 9919 @lecd oldel, WHE R=8 (,
L=24mH @ C=60 uF 8. HWal JcEY IUGT I 4o ‘v kW 3. x ¥ qod Sdadl

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 864351382 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



Consider a frame that is made up of two thin massless rods AB and AC as shown in the
—_—

figure. A vertical force P of magnitude 100 N is applied at point A of the frame.

e

P

N

Suppose the force is P resolved parallel to the arms AB and AC of the frame.

The magnitude of the resolved component along the arm AC is xIN.
The value of x, to the nearest integer, is
|Given:  sin(35%)=0.573, cos(35%)=0.819

sin(110%) =0.939, cos(110%)= —0.342 |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 864351382 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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[ o1 ame :5in(35%)=0.573, cos(35")=0.819

sin(110%) =0.939, cos(110%) = —0.342 |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 864351383 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The first three spectral lines of H-atom in the Balmer series are given A, A, A, considering the

, ; ; ; A
Bohr atomic model, the wave lengths of first and third spectral lines [h—ll are related by a
3/
factor of approximately ‘x* x10 1,
The value of x, to the nearest integer, is

Response Type : Numeric
Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 23 Question Id : 864351383 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

R AU Eg SIUETS! UfgedT T Ual Y&l Ay, A, A, [oicd omed.  sexdl sifvad

Uil faamTa o ufdedr 9 foa=ar damil Yuie “"_T\ THTAE] 3T ‘2 x 10! 2 gga

\P"'R:'

HaIgd dhodl Jad.
x 9 Yog Wdoed quiedd TS,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 864351384 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The value of power dissipated across the zener diode (V,=15 V) connected in the circuit as
1

shown in the figure is x X 10 * watt.
RS =35 ()
M -"'.;"-,I."' A I
pacs I =R =900
2V g =k

v
Ll

The value of x, to the nearest integer, is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



100

Question Number : 24 Question Id : 864351384 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

il STEfdeiedl TRUATT Heeicdl Y S@rs 9 (V,=15 V) 3Uidd waxid Jed xx 101
wall 2.

Rg=35 ()
EL ll",. f",'ll",.'.'n, ,-.I','\.‘ |
= =R =900
Sy V,=15V & =R
&4

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 864351385 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



A ball of mass 10 kg moving with a velocity IID\E m g~} along X-axis, hits another ball of
mass 20 kg which is at rest. After collision, the first ball comes to rest and the second one
disintegrates into two equal pieces. One of the pieces starts moving along Y-axis at a speed
of 10 m/s. The second piece starts moving at a speed of 20 m/s at an angle 0 (degree) with

respect to the X-axis.
The configuration of pieces after collision is shown in the figure.

The value of 8 to the nearest integer is

After Collision

AY

- X axis

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 864351385 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



10 kg, SEGAATET ¥ 1043 m s~ ! 3 X-SHEE TR R Re” awgeredr 20 ke, ST
JFel Y-HEAER 10 m/ s I THAM Bl SE gohel X-3EmE o (&) &1H 99 20 m/s T
fEE El.
g HaaHaYd HwUu @il Aiddld arEfdel 38, 0 o Hed wdeedl Uieiedd
3T

Y ) HETEHT

[

» X

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 864351386 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



Consider a 20 kg uniform circular disk of radius 0.2 m. It is pin supported at its center and

is at rest iniially. The disk is acted upon by a constant force F=20 N through a massless

string wrapped around its peripher}r as shown in the figu_re.

F=20N

Suppose the disk makes n number of revolutions to atlain an angular speed of 50rad s~ L.

The value of n, to the nearest integer, is

|Given : In one complete revolution, the disk rotates by 6.28 rad]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 864351386 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



02 m FUE @ 20 kg 91 UHhHAM dg@leR d9@Sl [aR &, AEER R R &
I T goawm ReR e, g STEdeayAn URETHET Jeldeied] du-idYed SNl
HergH dadslay F=20 N Tde RN g del.

E=20N
A dederd 50 rad s ! B 9 FefwgrEd ‘n’ UEdl guiA dell.
n J Yo W] QUieEdd 3B

[ et ams : vt quf oA, 999E 6.28 rad PO F |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 864351387 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In the logic circuit shown in the figure, if input A and B are 0 to 1 respectively, the output at
Y would be ¥’

The walue of x is

Ae E::>O_'
e

| ey

3

B e—{>0 ]

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 27 Question Id : 864351387 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

HTPpeiiiel cllolle TRULR, WY FAfascr A9 B2 09 1 &P amed. Y 4 Freo— v ae.
Iﬁ'-ﬂ‘a} HE.

A® Do7
e

D=t

3

B &—{>0 1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 864351388 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In the figure given, the electric current flowing through the 5 k{} resistor is ‘2" mA,

k0
A
VAV %?gi
A e v
I
21V, 1 k)

The value of x to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 28 Question Id : 864351388 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

feoien g, 5 kQ WHUGT 9N fdgd gRT ‘' mA 37E.
3 k0

s
=

21V,1kQ
x ° Hod Wdoedl QUidiadd - 3TE.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 864351389 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A fringe width of 6 mm was produced for two slits separated by 1 mm apart. The screen is
placed 10 m away. The wavelength of light used is "x’ nm.

The value of ‘x’ to the nearest integer is ___

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 864351389 Question Type : SA



Correct Marks : 4 Wrong Marks : 0
| mm 3{TY FHeiedl I Weigae 6 mm d Sead] $al TaR il T8al 10 m g Sdel e,

qu¥etel] TR ‘2’ nm 318,
‘¥ ¥ ¥ Jacwl quieTadd ST,

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 864351390 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The resistance R = l , where V=(30£2)V and I=(20£0.2)A. The percentage error in R is
l

x

The value of “x" to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 864351390 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AT R= L WT V=(50+2)V T [=(20+0.2)A. R Ffel caparide I3 ‘2’ % TS
|

‘Y d 0 Jdoel QUiieTEdd e,
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

100



Chemistry Section A

Section Id : 86435127
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 86435127
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 864351391 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R :

Asserion A: The H-O-H bond angle in water molecule is 104 .57,

Reason R : The lone pair - lone pair repulsion of electrons is higher than the bond pair
- bond pair repulsion.

In the light of the above statements, choose the correct answer from the options given
below :

Options :

8643511171, Both A and R are true, and R is the correct explanation of A

8643511172, Both A and R are true, bul R is not the correct explanatinn of A

8643511173, A is true but R is [alse

8643511174, V15 false but R is true

Question Number : 31 Question Id : 864351391 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



el a9 fagF faell amed. U6 SUF A T gEY SRU R ¥ fifderel oz,

BYTA: TR H-O-H 89 3 104.5° 3E.

BN R : fafdes g — fafaes g™ Sefdgl4 AHlel WSy §9 g7 — g9 7 Giasuuma
TN 3.

IS fagE AR Elelld WM SxEY 99y Fael.

Options :

864351“71_ﬁnmnmmmmﬁwwﬂwm

8643511172, Sl A 3T R |Y 3ed, W R & A 9 §YEY a0 @,

8643511173, A TY 8 WY R T[T B

8643511174, A TIC &8 WY R & 3M1e.

Question Number : 32 Question Id : 864351392 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List - 11
Industrial process Application
(a) Haber's process (i)  HNO, synthesis
(b) Ostwald’s process (i) Aluminium extraction
() Contact process (i) NH, synthesis
(d) Hall-Heroult process (iv) H,50, synthesis

Choose the correct answer [rom the options given below :
Options :

8643511175, @H(1¥), (b)-(1), (c)-(ii), (d)-(iii)

2643511176, @), (b)-(1), (¢)-(iv), (d)-(if)

seazs117, @), (b)), (-(iv), (d)-i)

s64351117g. (D), (BH(1v), (c)-(), (d)-(ii)



Question Number : 32 Question Id : 864351392 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
&1 — | grat — 11 SRIEY ool -

el — 1 et — 11
BHREFITI Ui TR/ YA
(a) O Uihpdl/Ugd (i) HNO, Heemy
(b) Hicdee Ugd (i) SfcgmtsE fspym
(c) Thicde Uga (iii) NH, Heeim
(d) @ld—ediee Ugd (iv) H,S0, Heerwur
Cleflel YAIHEE aEy 9aY Hael :
Options :

8643511175, @), (b)-(1), (c)-(ii), (d)-(iii)
2643511176, @), (B)-(), (¢)-(iv), (d)-(ii)
8643511177, (@) (i), (b)-(ii), (c)-(iv), (d)-(i)

s6a3s1117g. @r(, (D), (), (d)-(ii)

Question Number : 33 Question Id : 864351393 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A group 15 element, which is a metal and forms a hydride with strongest reducing power
among group 15 hydrides. The element is :

Options :
8643511179, Bi

8643511180. :

8643511181, '8



8643511182. b

Question Number : 33 Question Id : 864351393 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

15 o1 TCiie Jeiwdd, W 91 R T 15 Wil Waia e &y widd S¥elel BagEs adN

I, O JoOmeld  3E.

Options :
8643511179, DI

8643511180. 5

8643511181, 'S

8643511182.

Question Number : 34 Question Id : 864351394 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The process that involves the removal of sulphur from the ores is :
Options :

8643511183, o T8

Roasth‘ng
8643511184.

8643511185, Smelting

8643511186, caching

Question Number : 34 Question Id : 864351394 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
HIJPIqT Wby Dlgd clovaredl Ugdell ___ ¥=UdM.

Options :



8643511183.

8643511184, 19TV

8643511185.

8643511186. L

Question Number : 35 Question Id : 864351395 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :  H,0, can act as both oxidising and reducing agent in basic medium.
Statement II : In the hydrogen economy, the energy is transmitted in the form of
dihydrogen.
In the light of the above statements, choose the correct answer from the options given
below :
Options :
Both statement I and statement 1l are true
8643511187.
8643511188, Both statement 1 and statement 11 are [alse
2643511189 Statement 1 is true but statement 11 is false
Statement 1 is false but statement 11 is true
8643511190.

Question Number : 35 Question Id : 864351395 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Hleil 39 a9 faefell amead -

faam1: H,0, <l 91=dd AiaSienNe qHd fUeRe 34 ard $o bl
faumE 11 : g anfddad, Sl SRHEdelwl Woda INbd 2.

T [IFAT S helld WA a-¥6] 909 Hael
Options :




8643511187, STl T9UT 1 SO faem 11 &% e,

2643511188, 22 fau= 1 anfor fqum= 11 E@e 3med.

8643511180, 18M 1 &¥ WY faum 1 @i &ms.

2643511190, 99 1 EIC Wy faum 1 =¥ o=,

Question Number : 36 Question Id : 864351396 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement 1 : Both CaCI?_'EiHZD and MgCI?_'SHP_D um:lr_-rgn deh}-'draticrn on heating.

Statement 11 :  BeO is amphoteric whereas the oxides of other elements in the same group
are acidic.

In the light of the above statements, choose the correct answer from the options given

below :

Options :

2643511191 Both statement I and statement Il are true

2643511192, Both statement | and statement 1l are [alse

2643511193, Statement 1 is true bul statement 11 is false

2643511194, Statement | is false but statement 1l is true

Question Number : 36 Question Id : 864351396 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



el aF fagr el e ¢

faam 1: SF CaCl6H,0 3T MgCl,-8H,O TUdeard wid fHuieiihyol 8.

faur 11: BeO T SWYA! JAlHEe AT T W Tehild 0% ool HrEsy AFALH
SIS

Options :

2 faumE 1 a7 fAu= 1 =Y sned.
8643511191,

9643511192, el fauE 1 anfor faum= 1 S aned.

faam 1 @Y a2 Wy g 11 | am@.
8643511193.

8643511194, 198 1 €I 31g W faum 11 & e,

Question Number : 37 Question Id : 864351397 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - 1 with List - 11 :
List - 1 List - 11
Name of oxo acid Oxidation state of P’

(a) Hypophosphorous acid (1) +5

(b) Orthophosphoric acid (i) +4
(¢) Hypophosphoric acid (i) +3
(d) Orthophosphorous acid (iv) +2

(v) +1

Choose the correct answer from the options given below :
Options :
8643511195, (@)-(V). (b)-(iv), (c)-(ii), (d)-(iii)

8643511196, (@)(1v), (B)-(1), (c)-(i), (d)-(iii)

8643511197, @r(v), (b}-(v), (¢)-(i1), (d)-(iii)



g643511198. @r V). (B)-(1), (9)-(11). (d)-(iii)

Question Number : 37 Question Id : 864351397 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
&1 — 1 A1E) — 1 SRIEY ol

el — 1 e — 11

SfTa=A1 3T TG ‘P SiffeTsA Rerelt
(a) BAUGINHYE 3 (i) +5
(b) SHfaTHIEpING 3w (i) +4
(c) BEUUGIERING A (iii) +3
(d) STSTBERIE 3 (iv) +2

(v) +1

Glefle] JAiFET a¥ER 90 asl
Options :

8643511195, (@)r(v), (b)-(iv), (c)-(ii), (d)-(iii)
8643511196. (@)-(iv), (b)-(1), (c)-(i), (d)-(iii)
wersii19r @HIV), (B-(V), (©)-Gi), (d)-(ii)

2643511198, @r (), (B)-(1), (c)-(if), (d)-(iif)

Question Number : 38 Question Id : 864351398 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statement : one is labelled as Assertion A and the other is labelled as

Reason R :
Assertion A :  Size of Bk** ion is less than Np® * ion.
Reason R : The above is a consequence of the lanthanoid contraction.

In the light of the above statements, choose the correct answer from the options given

below :

Options :



2643511199, Both A and R are true and R is the correct explanation of A

8643511200. Both A and R are true but R is not the correct explanation of A

8643511201, A is true but R is false

8643511207, ‘A 18 false but R is true

Question Number : 38 Question Id : 864351398 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Gredl S {99 fiefell aMed. T BAA A 01 gaY BIRUT R 39 fefeerel &z,
dUF A: Bk AR PR Np*t SATAT BRIV o e,
BRYU R : o~IFge AP dxiel e e,

el TauHE e Eellel JIIHgT SREY 9ty Fdsl.

Options :

8643511199.3‘@&WI{@MW[{E&%WW e,

8643511200.E‘F&ﬁ@ﬁ?ﬂ@i&ﬁﬁﬂﬁgﬂ%’ﬁ%@ﬁﬂ??ﬂ@ﬂmﬁ.

8643511201, A T 378 WF R FT 38,

8643511202, A TIC 318 T R B JME.

Question Number : 39 Question Id : 864351399 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two stalements :
Statement 1 :  The E° value for Ce** /Ce* is +1.74 V.
Statement Il : Ce is more stable in Cet* state than Ce®* state.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :



Both statement 1 and statement Il are correct
8643511203.

8643511204 Both statement | and statement 1l are incorrect

8643511205. Statement 1 is correct but statement 11 is incorrect

8643511206. Statement 1 is incorrect bul statement 1l is correct

Question Number : 39 Question Id : 864351399 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
el g faur feetell amed.

fem 1. Celt/Cet widl B ot fdaa +1.74 V .
A n: Ce 2 Cett an Radia Ce¥t an Radiien oRa Rer ane.
e A s Elelidl WY a¥E] 9 fHael.

Options :

S faumE 1 anfor f{JuE 11 a3EY aned.
8643511203.

8643511204, a4l faam 1 anfor faum 1 g e,

8643511205. . g n3 e

8643511206, T 1 go Ty faum 11 seR S,

Question Number : 40 Question Id : 864351400 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The type of pollution that gets increased during the day time and in the presence of O, is :
Options :

8643511207. RRICIng amog

Dxidi%f_ng SmMog,
8643511208.



8643511209, ‘icid rain

Global warming,
8643511210.

Question Number : 40 Question Id : 864351400 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Options :
8643511207, AHUIPINE ¥

- u
8643511208.

86435112009.

THEge 9 (Global warming )
8643511210.

Question Number : 41 Question Id : 864351401 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In chromotography technique, the purification of compound is independent of :
Options :

3643511211. Solubility of the compound

8643511212. Mobility or flow of solvent system

Length of the column or TLC plate
8643511213.

Phyvsical state of the pure compnund
8643511214. !

Question Number : 41 Question Id : 864351401 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e Ugar WY gEree gAY .




Options :

7 " U"\ LN
8643511211, TS AT STAUTITAR

8643511212.

8643511213. e TLC =1 Te

8643511214. R

Question Number : 42 Question Id : 864351402 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Among the following, the aromatic compounds are :
(4) <:>_CH2 (B)

(©) (D)
S @

Choose the correct answer from the following options :
Options :
8643511215, (1) and (B) only

8643511216, (/) (B) and (C) only

B), (C) and s
sea3si1217. ©F () and (D) only

(B) and (C) only
8643511218. 4

Question Number : 42 Question Id : 864351402 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

dleflcldd] RMcd | ||
(A) —CH, (B)
(C) (D)

) ®

el JaigiEygd sREY 9 Hael
Options :
8643511215, (A) ST (B) Warl

cea3siiage. (A (B) ST (C) Pt

8643511217. (B), (C) Sl (D)%

3643511215, (B) 3T (C) Bt

Question Number : 43 Question Id : 864351403 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is Lindlar catalyst ?

Options :

8643511219, Partially deactivated palladised charcoal

2643511220. Sodium and Liquid I“'s]'H3

Cold dilute solution of KI"»"IHD4
8643511221.

8643511222. Zinc chloride and HC1



Question Number : 43 Question Id : 864351403 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Gcius] Bl [dseY SoRd e’
Options :

8643511219. f ! et el SISEEE g

8643511220. G il

g, faved KMnO, ¥ =@
8643511221.

8643511220, P FARIES ST HCL

Question Number : 44 Question Id : 864351404 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
H;C OH H;C Cl

EU"}‘-;:'I I 13PD4 "ﬁ"’ {CI 13)3 CU_ K + ::BJ'.I'
S ; »
358 K (Major Product) (Major Product)

The products “A” and “B” formed in above reactions are :

Options :
CH, CH,

8643511223.

8643511224.

#



CH,
B =] \

Question Number : 44 Question Id : 864351404 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A -

CH, i|.f|.H2
A — B —
8643511225
CH,

8643511226.

H;C OH H;C Cl
ZD{;{:. HSIJ(‘)'JI “A" [:(‘-:Hj)j (_10_ K o I Hn
i Afafhald 9gR AU 9die ‘AT Ifr “BT  dred.
Options :

O
O

8643511223.

I |
8643511224.



CH,

A -

CH, i
8643511225.
CH,

8643511226.

Question Number : 45 Question Id : 864351405 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o—_~
i) DIBAL-H, Toluene, —78°C wp
ii) H,O~ (Major Product)

The product “P” in the above reaction is :

Options :

CHO

8643511227.

8643511228.



OH

CHO

8643511229.

COOH

8643511230.

Question Number : 45 Question Id : 864351405 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o~_F
j.} DIBJ&ILL_H, ';dcll: uqh_:‘; r EI}C & i ]-J.H
if) HyO* (y@ Fara)
aiia afafpadia 9w “P7 . Jle.
Options :
CHO
8643511227.
0
O—C-—H

8643511228.



OH

CHO

8643511229.

COOH

8643511230.

Question Number : 46 Question Id : 864351406 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Assertion A @ Enol form of acetone [CH,COCH,] exists in < 0.1% quantity. However, the
enol form of acetyl acetone [CH,COCH,OCCH,] exists in approximately
15% quantity.

Reason R : Enol formof acetylacetone is stabilized by intramolecular hydrogen bonding,

which is not possible in enol form of acetone.

Choose the correct statement :
Options :
8643511231, Poth A and R are true and R is the correct explanation of A

2643511232, Both A and R are true but R is not the correct explanation of A

3643511233, A is true but R is false

2643511234, A 1s false but R is true

Question Number : 46 Question Id : 864351406 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



HYAA: [CH,COCH,] fHerd $lad WeU < 0.1% dend. Ug AMNce dReH
[CH,COCH,OCCH,] ¥ $ld WU Wdowde 15% e .

BN R :  3aXy g SEFe JNCe el $Hld 9 o uid ReY 2 of 6
eIy ey L

ey faum s -
Options :

8643511231@::3Amximmﬁmgﬁnﬁw@@wm

8643511232'3‘&% A FOTR &Y ed Wg R & A O SEY WG @,

8643511233, A TX S T R Wi 1.

8643511234, gIc afe g R &Y 3.

Question Number : 47 Question Id : 864351407 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
NH- OH

[

NaNO,, HCl
273-278 K

o XJ‘.’ K A” .
r

Major Product

In the above chemical reaction, intermediate “X" and reagent/condition “A" are :
Options :
NO,

X ;  A- H,0/NaOH

8643511235.



N,Cl—

> ; A- HO/A
8643511236,
+
N,CI—
¥ ;  A- HyO/NaOH
8643511237
NO,
A ; A- H0/A
8643511238,

Question Number : 47 Question Id : 864351407 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

NH, OH
NaNOy HCI .., “A”
273-278 K .
(HEE See)
NI G ATHB IO Jieaffe X7 o FfHfearas /afiifkerd “A”
Hred.

Options :



NO,
¥ @ ; A- H,0/NaOH
8643511235.

N,CI—
X - @ i A- H,O/A
8643511236
+
N,Cl—
2 @ ;  A- H,O/NaOH
8643511237
NO,
X - @ i A- H0/A
8643511238,

Question Number : 48 Question Id : 864351408 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following reaction DOES NOT involve Hoffmann bromamide degradation ?

Options :
8643511239.



I
CHQ T C T CHq CHE - NHE

i) Bro, NaOH/H *+
i) NH, /A

fii) LiAlH,/H,0

0
CH, — H — NH, CH, — NH,
Bry, NaOH .
8643511240. »
0
: NH,
Cl 5
i) NH4, NaOH -
8643511241. ii) Bry, NaOH i

CN NH,
i) KOH, H,0
ii) Br,, NaOH
8643511242,

Question Number : 48 Question Id : 864351408 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
GeAtets! S fafiear 2eaT gmmEs faggs sEaa AR’
Options :
8643511239.
i
CHQ T C T CHq CHE - NHE

i) Bro, NaOH/H *+
i) NH, /A

fii) LiAlH,/H,0




O
I

CH,— NH,

O/ Bry, NaOFH
8643511240.

0
I
Cl
i) NHs, NaOH
ii) Bry, NaOH
8643511241,
CN
i) KOH, H,0
i) Bry, NaOH
8643511242,

L
>

NH,

NH,

Question Number : 49 Question Id : 864351409 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The functions of antihistamine are :
Options :
8643511243, ntiallergic and Analgesic

8643511244. Analgesic and antacid

Antacid and antiaIIergic
8643511245.

8643511246, ‘ntiallergic and antidepressant

Question Number : 49 Question Id : 864351409 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

gfefeecda o .

S



Options :
8643511243. aife

8643511244. wid

8643511245. i e

8643511246, SCCAUID ST TATUITRIED

Question Number : 50 Question Id : 864351410 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which among the following pairs of Vitamins is stored in our body relatively for longer
duration ?

Options :

8643511247, Thiamine and Ascorbic acid

8643511248, Vitamin A and Vitamin D

864351249 Lhiamine and Vitamin A

Ascorbic acid and Vitamin D
8643511250.

Question Number : 50 Question Id : 864351410 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Gleflel WiiaTaied] WieiUs] SVl irel TR W Slogdd g Jiad 2

Options :

8643511247.

8643511248. A D

8643511249, TN ST AT A



IhIdd I A HiaTdd D

8643511250.

Chemistry Section B
Section Id : 86435128
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 86435128
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 864351411 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A 6.50 molal solution of KOH (aq.) has a density of 1.89 g cm ~*. The molarity of the solution

is ~_ mol dm 3,

[Atomic masses : K:39.0u; O : 16.0 u; H : 1.0 u]

(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 51 Question Id : 864351411 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

THT 6.50 AT KOH (aq.) =1 S1EUm=El B99a1 1.89 g cm ™3 3ME. &M S1E0IEl TAYTT
o _mol dm~3 @, (Vd@Al YUE)

(319 SegAH K :39.0 ; O : 16.0 u; H : 1.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText
Possible Answers :

100

Question Number : 52 Question Id : 864351412 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A certain element crystallises in a bee lattice of unit cell edge length 27A. If the same element
under the same conditions crystallises in the fec lattice, the edge length of the unit cell in A will
be _ . (Round off to the Nearest Integer).

[Assume each lattice point has a single atom]

[Assume 3 =1.73, /2 =1.41]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 864351412 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

27A DSl bl RISl TP bee WA=l Thal 4l F2 THl oA WhichIp 0 . &Y
g elsedrd, AREAE TR foc WioTdld FRICHIHIU e, T Toha el =1 deidl ol
I A 3. (Saee gUidm)

| Wil Ui figay Tdh (0] 3 3 o |

[ WAST 3 =1.73, V2 = 141]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 864351413 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



When light of wavelength 248 nm falls on a metal of threshold energy 3.0 eV, the de-Broglie

wavelength of emitted electrons is A. (Round off to the Nearest Integer).

[Use : B =173, h=6.63x10"3 Js
m,=91x10"3 kg ; c=3.0x108 ms~1; 1eV=1.6 x 10~ ¥]]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 864351413 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

3.0 eV M1 Sl ST el H1gay 248 nm TRl S[¥elell U TSl HHdl, §eX JSurdl
SeigCgl @ grell aeirendl A o, (Siawer quien)
[ @WI: /3 =173, h=6.63x10" s

m,=91x10"31 kg ; ¢=3.0x10° ms~1; 1eV=1.6 x 10 ~19]]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 864351414 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For the reaction A(g) — B(g) at 495 K, A.G" = —9.478 k] mol f.
If we start the reaction in a closed container at 495 K with 22 millimoles of A, the amount of

B in the equilibrium mixture is millimoles. (Round off to the Nearest Integer).

[R=8314] mol ! K~ !; In 10=2.303]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText



Possible Answers :

100

Question Number : 54 Question Id : 864351414 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A(g) = B(g) 495K, A G°= —9.478 k] mol ~1 =1 AFAFHIWIE, TX S0 f& arfferan 495 K =
g Tera 22 feiMieTq A 9|i9d Y© oil, d¥ 9Hdid WHuRie B = AE
fHeTHIe™ 3d. (Gidel qulied)

[R=8314 J mol~! K~ !; In 10=2.303]

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 864351415 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

AB, is 10% dissociated in water to A%* and B™. The boiling point of a 10.0 molal aqueous
solution of AB, is "C. (Round off to the Nearest Integer).

[Given : Molal elevation constant of water K;,=0.5 K kg mol 1 boiling point of pure water
= 100°C]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 55 Question Id : 864351415 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AB, ¥ IO 10% fa=Rw 2= A% afor B~ AR BdM.  10.0 He AB, SRl SEumEl
SleduRicy _°C 8. (Wdedl Qulierd)

[ f&orer ame : urugran Aieter 989 ReRTe K, =0.5 K kg mol ~ !, g UI0AMEI ScHalD
= 100rC]

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 864351416 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Two salts A,X and MX have the same value of solubility product of 4.0 x 10~ 2. The ratio of

S (AyX)
their molar solubilities i.e. W =R . (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 864351416 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A,X afor MX &1 3F &R SEEa JoeR 9RE 3R dml f6ad 4.0x 1012 ame. =

. ) 5(AsX)
AAYY] FTEUIC U R S (MX) = ————— (qurichTa &)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 57 Question Id : 864351417 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2MnO3 +b G037 +cHY = xMn?" +yCO5 +zH50

[f the above equation is balanced with integer coefficients, the value of ¢ is
(Round off to the Nearest Integer).



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 864351417 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2MnOj +bCy05 +cHY — xMn?* +y CO, +2H,0

WX qdd GHIGRU QUlialdla qUie didw dgied do a¥ ¢ 91 feAg 3.
(qurihTa eiY)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 864351418 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The decomposition of formic acid on gold surface follows first order kinetics. If the rate
constant at 300 K is 1.0 10 "% s ! and the activation energy E,=11.488 k] mol I the rate
constant at 200 K is _ %1072 s 1. (Round off to the Nearest Integer).

(Given : R = 8314 T mol ! K~ 1)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 864351418 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



Bifd® e |-l USHRTYe [daed Ugd BIeH Tiad adad. X 300 K & Tl Reris
1.0x 103 s~ 1 3ftT WPy FHoil E, =11.488 k] mol ! &M&, X 200 K o R Rexid

(foeiel &8 R = 8314 Jmol 1K™ 1)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 864351419 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The equivalents of ethylene diamine required to replace the neutral ligands from the

coordination sphere of the trans-complex of CoCly4NH; is — . (Round off to the

Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 864351419 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

CoCly-ANH, =1 U (trans) Wicar=dl Wedgal TR Salgd el SSevardel el
YA SHSMETY WYY 3ed. (Sdeen guidn)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 864351420 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



C c}rnplete combustion of 750 o of an organic cc}mpound prcwides 420 g of CDE and 210 g of

HED. The percentage composftion of carbon and h}rd_mg_r_-n in nrgaxﬁc compcrund is 15.3 and

_ respectively. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 864351420 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

750 g b1 HIE-1 YA YUl Gaer el 3Eal 420 g CO, 3101 210 g H,O TIR el HieA AT
BGITd & Pl WYlel Ybel HChUHENl 153 T e 8. (Wdedl

oifepT)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
Mathematics Section A

Section Id : 86435129
Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 86435129
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 864351421 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



e . X o]
. _ /77 . Then, the system of line: ations A7 | = has -
: { j‘, = 1 en, B S}S 21 O 1ear C‘qLI’i 101s [1{] |iE]—1-j‘ das

i
Let A= {
Options :

3643511261, No solution

8643511262. A unique solution

8643511263, Infinitely many solutions

3643511264 Exactly two solutions

Question Number : 61 Question Id : 864351421 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

I £] - | X 8 .
HHIT A = { P ] i =+—-1 ., 9% A® {J = LJ AT VT FHEIONAT (linear equations)
=
YuleirE! :
Options :
8643511261, S el STE.
8643511262. e,

8643511263. 8 ]

8643511264. SR e

Question Number : 62 Question Id : 864351422 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Let the functions {: R — Rand g : R — R be defined as :

x <0 x> x =<1

fw=1 5" (%) '
x)= : x) =
A [ xz, x=0 and & 3x -2, x =1

Then, the number of points in R where (fog) (x) is NOT differentiable is equal to :
Options :
8643511265, U

8643511266, 1

8643511267 2

8643511268,

Question Number : 62 Question Id : 864351422 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A RS> R &AM g:R— R :

x <0 | ; J 13, <]
, =0 [3x =2, x =1
i FifdEd SO &8 @), R 997 @1 g3 ¥, W@ (fog) (x) € fd@eid (differentiable)

el EWEN  3E.
Options :

8643511265, U
8643511266. 1

8643511267, 2

8643511268,

Question Number : 63 Question Id : 864351423 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



z
Let P be a plane Ix + my + nz=0 containing the line, 1 = = . If plane P
divides the line segment AB joining points A(—~3, — 6, 1) and B(2, 4, — 3) in ratio k : 1 then

the value of k is eq_uaI to:

Options :

(]

8643511269,
8643511270, 1.9

8643511271, 3

8643511272.

Question Number : 63 Question Id : 864351423 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1— x 4 oz 42
Al P B 11 =yj =5 Il Al FANGS HROMN Ul v+ my + nz=0 3E. R
yded P & A(-3, —6,1) 301 B(2, 4, — 3) a1 fégar Wrevmar YuEs AB o k: 1 I1 YA
faure 39, W kI @ WEY _______ 3ME.
Options :
8643511269, 2

8643511270, 19
8643511271, 3

8643511272, 4

Question Number : 64 Question Id : 864351424 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If for a > 0, the feet of perpendiculars from the points A(a, — 2a, 3) and B((, 4, 5) on the plane
Ix + my +nz=0 are points C{0, —a, — 1) and D respectively, then the length of line segment
CDis equal to :

Options :



8643511273. V31

8643511274, V66
8643511275, V41

=
8643511276. ™ 5

Question Number : 64 Question Id : 864351424 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
WX a >0 ¥Wd, Ix+ my +nz=0 I Udemadlieal A(a, - 2a, 3) 30T B(0, 4, 5) T1 figan <faman um@n
(foot of perpendiculars) Eﬂ‘;ﬁﬁ[ ]%'T:[\C{D, a, —1) ST D aM&d. X YuEs (line segment) CD
EIRICIRCRIEES 3.

Options :

8643511273. V31

8643511274, V6O

8643511275, V41

e
8643511276, ™ 5

Question Number : 65 Question Id : 864351425 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Consider three observations a, b and c such that b=a tc. If the standard deviation ol

at2 bt+2 c+2isd, then which of the following is true ?

Options :

8643511277, 0 — (@™ +c7) —9d”
R, S

8643511278, 0 — @ +ct) +9d

! R 2 3
8643511279, b-=a~+tc=+3d



8643511280, 0 —o@ et dd)

Question Number : 65 Question Id : 864351425 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
a, b M1 ¢ A1 < FrTeEvnET fdaR & W @ b=a+c. WX a+2, b+2,c+2 Iid YA fage
(standard deviation) d 3lT&, TR Glellciud] IV Tl 327

Options :
P LR T e | > 2
8643511277, 0 — (@™ +c%) ~9d
Bt Sy o g 18
8643511278, 0 — @ +c?) +9d

e 2 9
8643511279, b =a~tc=+3d

8643511280, 0 @ et dT)

Question Number : 66 Question Id : 864351426 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

P M, Fa My M,
Let the position vectors of two points P and Q be 3¢ — j + 2k and ¢ + 2 — 4k,

respectively. Let R and S be two points such that the direction ratios of lines PR and QS are

(4, -1, 2) and (—2, 1, — 2), respectively. Let lines PR and QS intersect at T. If the

vector TA is perpendicular to both PR and as and the length of vector TA '15.\."5 units,

then the modulus of a position vector of A is:
Options :

NG

8643511281.

8643511282, V171

227

8643511283.



8643511284. i

Question Number : 66 Question Id : 864351426 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
THST P oanfir Q I S f¥g=1 YN WiEW (position vectors) IJHH ?.? J} | ZL arfuy
i 27 - 4k STE. WS R ST S ¥ S g amEd oW B PR T QS A X6 i TUiRR

(direction ratios) 3JHH (4, —1,2) MO (2,1, —2) S HAST PR 3001 QS a7 X691 T ALY
EEGIGH

TN TA ¥ WEE PR T of W STEA w@ I T TA W WEEE Al 5 Thd o, T

A =07 ¥ HiSIET 94$ (modulus) e,
Options :

8643511281. V5

8643511282, V171
8643511283, V227

8643511284, V82

Question Number : 67 Question Id : 864351427 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let a vector o A |3,'_;" be obtained by rotating the vector /3 3y j by an angle 45° about the
origin in counterclockwise direction in the first quadrant. Then the area of triangle having

verlices («, 3), (0, ) and (0, 0) is equal to :
Options :

PO =

8643511285.



8643511286. 1

5

8643511287.

1

8643511288. V2

Question Number : 67 Question Id : 864351427 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A Ay figen dewla wflew 3 + | o W IRUMEl Seelearedl dea oy R

M

(counterclockwise direction) 45° =1 SFIUAT fXfdeariay WET o A [:‘,,r e 2d. ¥
(a, B), (0, ) M1 (0, 0) & BRI v Hropmny &=he aXEy .

Options :

PO | =

8643511285.

=i

8643511286.

8643511287. ~

8643511288. V2

Question Number : 68 Question Id : 864351428 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of roots of the equation,

{81 ]s:in::l: | {S-:[JL'UH:I — 130
in the interval [0, 7] is equal to :
Options :

8643511289, 2



8643511290, =

8643511291, +

8643511292, 8

Question Number : 68 Question Id : 864351428 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(B1)FR% 4 (81)05 ¥ =30 U FAGRU [0, =] TT AU HEA (in the interval) F@iET =T

EE{C LS -3
Options :

P

8643511289.

8643511290, 2

8643511291.

o 4]

8643511292.

Question Number : 69 Question Id : 864351429 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A pack of cards has one card missing. Two cards are drawn randomly and are found to be
spades. The probability that the missing card is not a spade, is :

Options :
2
472
8643511293, 20
52

8643511294, 867

39
8643511295, U



3
8643511296. 4

Question Number : 69 Question Id : 864351429 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Teh! UITAT (cards) TSIHYT (pack) U U 868 3E. S U II58d (randomly) 0T Hieed
IfoT 9 SNUSA UX WU dewdel. B Soidll TNl B SRUG (spade) I UST AR AR
YTl (probability) 3Te.

Options :
2
472
8643511293, 25
52

8643511294, 867

39
8643511295, 2V

3
8643511296. 4

Question Number : 70 Question Id : 864351430 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The range of acR for which the function
i

; ) ol EY «
f(x)=(4a - 3)(x + log.5) + 2(a — 7) cot [;J S | J, x #2nw, neN has critical points,

b =

ra | =

is :
Options :

[1, =)
8643511297.

(= 92—
8643511298



57
3
8643511299. '

8643511300. (=3, 1)

Question Number : 70 Question Id : 864351430 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
aeR I A=A (range) _ e,

.

ST f(x) = (4a — 3) (x + log,5) + 2(a ?}cnt(%
@ifdd &g (critical points) e,

ol xY .
— [?J x # 2nm, neN T B

.

Options :
[1, =)
8643511297.
(— = —1]
8643511298.
52
3
8643511299. '
'1
8643511300. SEC

Question Number : 71 Question Id : 864351431 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If n is the number of irrational terms in the expansion of (3% | 5% ]ﬁ'DI , then (n — 1) is divisible
by :

Options :

8643511301. °

o ]

8643511302.

2
8643511303.



e J

8643511304,

Question Number : 71 Question Id : 864351431 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

SR on & (3% ;5% o ARt #iel SURAY (irrational) ST WEA #E, W (n-1) o
= faursg (divisible) 3=.

Options :

8643511301. 30

= ]

8643511302.

2
8643511303.

8643511304,

Question Number : 72 Question Id : 864351432 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let [x] denote greatest integer less than or equal to x. If for neN,

: 3y _ O -]
(L—x+ x7) _;_}aj.t i
=

In—1

2
}__ ag; 4 ‘)___ 42;+1 is equal to :
j=0 =0

Options :

8643511305. <

8643511306. T

()

8643511307.

8643511308, !



Question Number : 72 Question Id : 864351432 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HAG [x] & x el x U& o8 MUY H2w9 QUI® (greatest integer) S¥ifad.

5 [

o)
-

3n B 5
. 3 _ N . = =
WX neN wridy, (1-x +a Jn‘la_rl'?,ﬁ? 2 oag +4 ) agiy wWER
1=0 =0 =0
ATE.
Options :
Aan—1
8643511305. =

8643511306,

I

8643511307.

8643511308.

Question Number : 73 Question Id : 864351433 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following Boolean expression is a tautology ?

Options :

8643511309. pADVpVY

8643511310, P A DV (P —9)

8643511311, P D=9

se43511312. 2D~ —~9)

Question Number : 73 Question Id : 864351433 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
Eeilcly®! BT geild Yaideidl (Boolean expression) el (tautology) 38 ?
Options :
Y AL W L
8643511309. PrV VY

8643511310, P A DV (P —9)
8643511311, P DA =9

3 A — :
se43511312. 22D 2P~ 9)

Question Number : 74 Question Id : 864351434 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

k a5
- — b i £ .
Let Sk = 2 tan {?grq 20 |- Then k'!_’: Sk is equal to :

Options :

8643511313.

8643511314. o

8643511315.

8643511316.

Question Number : 74 Question Id : 864351434 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3

k -
-1 3] Toga
HAST Sk = x_.; tan e seaa | T MM Sk ey s,
1 2.._:‘ 1 } :}r._:l' 1 ) k—oo

Options :



ra|

8643511313.
4 (3)
cntI[—|
<
8643511314 \</
. o
8643511315. =i
tan~! (3)

8643511316.

Question Number : 75 Question Id : 864351435 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of elements in the set {xeR : (x|~ 3) x +4 =6} is equal to :
Options :
8643511317, 1

8643511318, 2

8643511319,

8643511320, *

Question Number : 75 Question Id : 864351435 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(xR : (x| —3) [x +4 =6) T FAHYA Gchidl (elements) &I SREY L.

Options :
8643511317, 1

8643511318, 2

8643511319,

8643511320, *



Question Number : 76 Question Id : 864351436 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

{Iogm n—1), n > (,

tthal

If for xe | 0, % | log,ysinx +log, ,cosx= — 1 and log,,(sinx + cosx) =
o2

then the value of n is equal to:
Options :

8643511321. 9

8643511322, 12

16
8643511323.

8643511324, 2V

Question Number : 76 Question Id : 864351436 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

F.

\ 1
uiv xe l{], ;| Td, log,ysinx +log,cosx= —1 & i log,(sinx + cosx) = E{Iog”} n—1),

n>0, ™WndHed WEY 3B,
Options :
8643511321. 9

8643511322, 12

16
8643511323.

8643511324, 2V

Question Number : 77 Question Id : 864351437 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



11 (ar )
If y=y(x) is the solution of the differential equation, ::L_f t 2ytanx = sinx, y[ 3 | = 0, then
- 3)
the maximum value of the function y(x) over R is equal to :
Options :

8643511325. 8

M=

8643511326.

8643511327. 4

.
8643511328, O

Question Number : 77 Question Id : 864351437 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

d
WX y=y(x) & Ey b 2ytany = sinx U1 fddeis WHIGIUME! (differential equation) Sdhal e,

u[%} = (0, T y(x) I ®ad R T PAA o8 (maximum value) TIET 2.

Options :
8643511325, 8

M=

8643511326.

8643511327. 4

.
8643511328, O

Question Number : 78 Question Id : 864351438 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The locus of the midpoints of the chord of the circle, 12 4 y3=25 which is tangent to the

[E*]

F

X If !
hyvperbola, — — =— =1 is:
YP 9 16

Options :
(x%+y?)2 - 9x2 + 144y =0

8643511329.
232 - 9x2 162 =0
8643511330, & V) Y
2y -9 4162 =0
8643511331. ( J } J

8643511330, & T U7~ 162749y =0

Question Number : 78 Question Id : 864351438 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2

x2 +y2=25 1 aqardl uildl (chord) 2 % 3{—5 =1 &1 3URE (hyperbola) 31 W& (tangent)

s, 1 Sild=dl Heafdgd MU (locus) HIE.
Options :
(x%+y?)2 - 9x2 + 144y =0

8643511329,

2+ - 9x2 162 =0
8643511330. { Y } ¥

2 yHE - 9 16yt =0
8643511331. { J } y

8643511332, (6 TY)7 16274 9y7=0

Question Number : 79 Question Id : 864351439 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If the three normals drawn to the parabola, > =2x pass through the point (a, 0) a= 0, then

‘a’ must be greater than :

Options :



8643511333, |

8643511334. 1
1
2
8643511335, =
1
-
8643511336. =

Question Number : 79 Question Id : 864351439 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

WY y*=2x T 4% (parabola) 9% Plecie] I Waid (normals), (a, 0) a0 I1 &g AT @,
Wad Y& SN g Tifdel.

Options :

8643511333, 1

8643511334. 1
1
2
8643511335, =
1
-
8643511336. =

Question Number : 80 Question Id : 864351440 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i z] + 11 |
Let a complex number z, [z/+ 1, satisty log { |—————= | = 2. Then, the largest value of
i L1zl — 1))
zlisequalto _
Options :

8643511337.



8643511338, ©

=

8643511339, *

8643511340, B

Question Number : 80 Question Id : 864351440 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A U |HA W& 2, [z[21 & logilﬁl < 2 9 §YF B, W% [z| 9 1S qed

4

(largest value) S¥@EY TS

Options :

(4] |

8643511337.

o

8643511338.

=]

8643511339.

= o]

8643511340.

Mathematics Section B

Section Id : 86435130
Section Number : 6

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 86435130
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 864351441 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



4+ i

z — 3

Let z and w be two complex numbers such that w = zT — 2z + 2, =1 and Re (w)

has minimum value. Then, the minimum value of neN for which w" is real, is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 81 Question Id : 864351441 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

HHAWT z HI0T w AT 19 wAiHE dEd (complex number) HATE. G|

z +1

=1 ;1T Re (w) ERCLIG] Ao (minimum value) e, T neN d

7. =8
fFaM 428 (minimum value) WIS w" € INd (real) 3ME, TER 2.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 864351442 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
8

Letf: R — R be a continuous function such that f{x) + flx +1)=2, forall xeR. If [} = J:.Ir(.r]d;r
0

3

and I, = Il,l"(x}dr , then the value of I, + 21, is equal to _
-1

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



100

Question Number : 82 Question Id : 864351442 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

TAGT f: R — R & ¥ad Ba (continuous function) 3& S @7 f{x) + flx +1)=2, WA xeR HE,

8 3

WX I = v[f{_r]dx T 1, = I_,F{x}dx R L2, T REY e
0 =1

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 864351443 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

X
If the normal to the curve ¥(x)= J{th 15t + 10) dt at a point (a, b) is parallel to the line
0

x+3y= —>5, a > 1, then the value of a+6b| is equal to ____

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 864351443 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
X
WY y(x) = I{Et1 15t + 10) dt 41 gehr (a, b), a>1 7 fég a¥ied Ueid (normal) x +3y= —5
0

g VYl FHIOY @, Y [a+6b o qo¥ TET e,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText
Possible Answers :

100

Question Number : 84 Question Id : 864351444 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

X e St &
: ae bcosx + ce .
If lim : =2, then a+b+cis equal to
x—0 xsinx

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 864351444 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

=X

X =
: ae bcosx + ce :
o lim _ =2, d% a+b+c gAY
x—d) Xsinx

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 864351445 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Consider an arithmetic series and a geometrﬁc sories havi_ng four initial terms from the set

{11, 8, 21, 16, 26, 32, 4}. II the last terms of these series are the maximum possible four digit

numbers, then the number of common terms in these two series is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 85 Question Id : 864351445 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

{11, 8, 21, 16, 26, 32, 4} TT FAMUYA IR Ufgell U (four initial terms) HUNY UG S0
(arithmetic series) ST YR FUT (Geometric series) TET fd@R H1. WX AT Uil Igcl U=
B SR W (maximum) 96 MUY 4 3] W& Aed, 9X 41 aF AviASe SHEd gai
(common terms)ydl §& GYEY g,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 864351446 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

-

30 20 56 2 Vi =
Let P=| 90 140 112 and A = 1 ) 1| where w= B pa and I, be the
120 60 14 0 ~0 —wtl }

identity matrix of order 3. If the determinant of the matrix (I IAE-’—E; ]2 is aw?, then the

value of « is equal to -
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 864351446 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



-3

~30 20 56 7 o - Y
A P=| 90 140 112| anfor A=|-1 ~w 1@1@(1,:%1@1331
120 &0 14 () (1) w +1 o

HICIH! (order of 3) FHUNT HEHRE IRV (identity matrix) IE. WX (P IAI‘—];_]E a1
ARUEl HRUE (determinant) aw® &, T o o Aed Y@ _ e

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 864351447 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

4 ——
Letf: (0,2) — R be defined as I_,r{_r}zfogz[l | mn{%”_
3 NOE L

Then, lim > [)r{;j | ,_Jr[—.} Fioad f[UJ is equal to

n—os I 1S

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 864351447 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

| f: (0, 2) = R, f(x)= Ingg[l I tan[%xn ENT %9 (defined) &5,
//

% \

-

ﬂ{um :[Jr[ﬂ | ,:‘[—} b ,:'{11:] T 3T

n—soo 11 )

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 864351448 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The total number of 3 % 3 matrices A having entries from the set {0, 1, 2, 3} such that the sum

of all the diagonal entries of AAT 59 is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 864351448 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

(0, 1, 2, 3} I HIHYT UdY Ao A T UG 3x3 ARV €@, W B AAT = wd
HUHSD (diagonal) yfassidr (entries) T 9 e, gNEY 3.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 864351449 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
Let ABCD be a square of side of unit length. Let a circle C; centered at A with unit radius is
drawn. Another circle C: which touches C 1 and the lines AD and AB are tangent to it, is
also drawn. Let a tangent line from the point C to the circle C, meet the side AB at E. If the

length of EB is .u' /3 {3, where «, 3 are integers, then a + 3 is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes



Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 89 Question Id : 864351449 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

HAG 9@l T oidl SHUIRT 9RY ABCD 318, oGl Uheh [Hudes A $a AU C, U
o Pledt . THY dgq@ C, 8 C, o W B il AD 3foT AB U1 wgi=a1 |WiRiE (tangent)
Y& Blecdl Jed. ¥l fig C U C, dardl Wikiel 9T (tangent line) 15[ AB @ E féigg
Yool O EB W Wil o + 3 B SE, e o, p WG I, T ot p AT .

e

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 864351450 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

d1

Let the curve y=y(x) be the solution of the differential equation, d—;:= 2(x + 1), If the

numerical value of area bounded by the curve y=y(x) and x-axis is , then the value of

y(1) is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 864351450 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



d
AT y=y(x) & 9P, d—y= 2(x +1) 71 fdpcid EHAIHIUME! (differential equation) $dbel 3TE.

X

WY 9% y=y(x) S0 x-3E AT gR UTREF (bounded) Hoicdl &Ahold HEIHD Hcd

4.8
(numerical value) % e, T y(1) 9 g ERIEES HE.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



